A fractional generalisation of an operational formula and the Gauss hypergeometric function

Tom Koornwinder, T.H.Koornwinder@uva.nl, last modified 9 May 2013

The n-th derivative formula

$$D^{n}(z^{a+n-1}F(a,b;c;z)) = (a)_{n}z^{a-1}F(a+n,b;c;z)$$
(1)

(see [2, 2.8 (21)]) can be understood as an iteration of its case n = 1

$$D(z^{a}F(a,b;c;z)) = az^{a-1}F(a+1,b;c;z)$$
(2)

by using the identity

$$z^n D^n z^n = (z D z)^n. aga{3}$$

This identity (see also [3, (13)] and [4, (15.5.10)]) can be shown by induction. First observe

$$z^{n}D^{n}z^{n} = \sum_{k=0}^{n} \frac{n!^{2}}{k!^{2}(n-k)!} z^{n+k}D^{k}.$$
(4)

Denote the right-hand side of the last identity by S_n . Then show that

$$(zDz)S_n = S_{n+1}.$$

We can rewrite (3) as

$$z^{n} \circ D^{n} \circ z^{n} = (z \circ D \circ z)^{n} = z^{-1} \circ (z^{2}D)^{n} \circ z = \iota \circ z \circ (-D)^{n} \circ z^{-1} \circ \iota,$$
(5)

where $(\iota f)(z) := f(z^{-1})$. Thus (1) can be rewritten as

$$(zDz)^{n}(z^{a-1}F(a,b;c;z)) = (a)_{n}z^{a+n-1}F(a+n,b;c;z),$$
(6)

(see also [4, (15.5.3)]) and as

$$(-D)^{n}(z^{-a}F(a,b;c;z^{-1}) = (a)_{n}z^{-a-n}F(a+n,b;c;z^{-1}).$$
(7)

Recall the Riemann-Liouville type fractional integral

$$(I_{\mu}f)(x) := \frac{1}{\Gamma(\mu)} \int_0^x f(y) \, (x-y)^{\mu-1} \, dy, \tag{8}$$

and the Weyl type fractional integral

$$(W_{\mu}f)(x) := \frac{1}{\Gamma(\mu)} \int_{x}^{\infty} f(y) \, (y-x)^{\mu-1} \, dy.$$
(9)

The fractional integral formula (see [1, (2.10)])

$$\frac{1}{\Gamma(\mu)} \int_0^x \Gamma(a+\mu) y^{a-1} F(a+\mu,b;c;y) (x-y)^{\mu-1} dy$$

= $\Gamma(a) x^{a+\mu-1} F(a,b;c;x)$ (Re $a > 0$, Re $\mu > 0$) (10)

can be seen as a fractional iteration of (2) by observing that

$$x^{-\mu} \circ I_{\mu} \circ x^{-\mu} = \iota \circ x \circ W_{\mu} \circ x^{-1} \circ \iota.$$
(11)

Formula (11) follows because

$$g(x) = x^{-\mu} \frac{1}{\Gamma(\mu)} \int_0^x y^{-\mu} f(y) \, (x-y)^{\mu-1} \, dy$$

implies that

$$g(x^{-1}) = x \frac{1}{\Gamma(\mu)} \int_x^\infty y^{-1} f(y^{-1}) (y-x)^{\mu-1} dy.$$

Formula (11) also implies the equality of the first and last part of (5). We can rewrite (10) by use of (11) as

$$\frac{1}{\Gamma(\mu)} \int_{x}^{\infty} \Gamma(a+\mu) y^{-a-\mu} F(a+\mu,b;c;y^{-1}) (y-x)^{\mu-1} dy = \Gamma(a) x^{-a} F(a,b;c;x^{-1}).$$
(12)

References

- R. Askey and J. Fitch, Integral representations for Jacobi polynomials and some applications, J. Math. Anal. Appl. 26 (1969), 411–437.
- [2] A. Erdélyi, Higher transcendental functions, Vol. 1, McGraw-Hill, 1953.
- [3] N. Fleury and A. Turbiner, Polynomial relations in the Heisenberg algebra, J. Math. Phys. 35 (1994), 6144–6149.
- [4] F. W. J. Olver et al., *NIST Handbook of Mathematical Functions*, Cambridge University Press, 2010; http://dlmf.nist.gov.